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BinzmEE = 1.00 8,000 8,000
ZDih % | 2000 36774 7,354| FHEED %

52,128




= 31
B sR iR RIAE 61 5
VAR iE
i 92655
_ _ Hfy 1KY
% WMo & fE AR BEulfh= 82 @ (£ ZE| & 2
R R T A 240 30,640 73,536 4K B |14
ZDih % 26.00] 73,536 19,119|FHE D%
B 92,655
=l
EHhYEIVERELER RifEE 62 5
— =z
£ 125011 H
— _ B 1= (2fER) HY
b W o- W RAKTE BAUM=H i |£ %] #& =
ER s T A 3.40[ 30,640 104,176 |4A B EI1%

ZDith % | 2000 104,176 20,835\ FHEE D%

125,011




B 32
ES IR R A RIAE 63 5
— iR
i 263672 H
_ _Hfr 1stmy
% WMo & fE AR BAZ=E (B (i B @ 2
A RL—EED) B 2.00] 62,400  124,800|{k Bt
LEEX£E A 400| 26540 106,160k B £t
Z D % 20.00| 163,560 32,712| FHEED%
B 263,672
B
BEAMERE RifEE 64 5
— =z
£ 64,300 M
B 1%y
A M - W 18 RAKTE ENE Sl EN | & =
BEMIERE (ENH) = 200/ 16,000 32,000
B IERE (EA%) = 6.00 4,000 24,000
BEHERE (DIEEF VN ElFis 1.00 600 600
BEAMERE (BE) = 1.00 500 500
BEAMERE (BiR) = 1.00 3,000 3,000
B IERE (RFR) {EfT|  6.00 700 4,200

64,300




B 33
BN E KR{EE 65 5
— iR
i 246,900 M
_ _Ef 1y

% WMo & fE AR BEulfh= 82 @ (£ ZE| & 2
BN E (EsE) = 2.00] 62,000 124,000
BN E (ERK) = 6.00] 14,800 88,800
BEHMLSE (RIEEF V) Elzis 1.00 2,400 2,400
BHMLLE (BE) = 1.00] 14,500 14,500
BEMLDE (BLiR) = 1.00 2,200 2,200
BEMLDE (RFR) {EfT|  6.00 2,500 15,000
B 246,900

B
EURZ O H REBERE RiEE 66 5
— =z
£ 17300 M
_ B 1=y

b W o- W B RAKTE BAM=H i |£ %| & =

EURZ O H REE = 1.00] 17,300 17,300

17,300




B 34
BT A H AR IR RifE 67 =
- - -
VAR iE
i 142,000 H
_ _Ef 1y
% F nfE AR BEulfh= 82 @ (£ ZE| & S
20V H R ENIE = 1.00] 142,000 142,000
B 142,000
AR R ERE RiEE 68 5
L -
— =z
£ 262779 M
_ B 189%Y
#  F mnrE RAKTE BAM=H i |£ %| & =
%k M12 & 2.00 41 82
Jyiy M12 & 2.00 10 20
FI4R ¢ 245 & 2.00 5,700 11,400
E—A yIEl] 2.00] 35500 71,000
arvToYy 20 1 F+220VAC & 2.00 2,100 4,200
E—AETE & 4.00 3,600 14,400
Jyia 1& 8.00 500 4,000
AR—H & 8.00 500 4,000
BH%Iviv & 8.00 12 96
PT#L5X% 16 & 8.00 11 88
ER i T A 4.04| 30640 123,785|{A B Z|1&
FDith =% 1.00 29,708| FHEE D %

262,779




=l 35
ORFTAILAVERE RifE 69 5
— iR
i 71,2904
_ B ELY
% F mn 1@ BRI BAEK=EE M |£ %] & S
OXFAIL Ak LGH-65RS4 & 1.00] 39,000 39,000
RiEgm T A 0.85| 30,640 26,044 /1K B EHE
Z D = 1.00 6,250| 57 I E D%
B 71,294
I7 745 —ER RifEE 70 =
— =z
£ 34194 M
_ _ B gy
#  F oz RAR~TiE Bilf=s B i (£ %8| @ =
ER s T A 0.90[ 30,640 27,576 |4 B 1%
ZDith =% 1.00 6,618| HIEEDN%

34,194




BEtAE iy

= 36
RifE 71 5
VAR iE
i 7000 H
_ _ Hfg 1KY
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
£ BB S =® 1.00 2,000 2,000
ORFAIL AV & 2.00 2,500 5,000
B 7,000
B 5 RifEE 72 5
— =z
£ 16,000 M
_ B 1x%ny
#  F oz RAKTE BAUM=H i |£ %] #& =
15 RSB & = 1.00 4,000 4,000
ORXFAILAE & 2.00 6,000 12,000

16,000




B 37
JEE ARARERE RIAE 73 5
- - -
VAR iE
i 42704 M
_ - D)
% WMo & fE AR BAEKE | HE M| %] & 2
EERERZFE LED. BB . EBthNEE | & 1.00] 35780 35,780
BT A 0.209] 26,300 5,496
ZDih = 1.00 1,428| FHEE D %
B 42,704
B
BEERIEE FRBAREER RifEE 74 5
L -
— =z
£ 9708 M
_ _ B 1/HY
b W o- W RAKTE EviE I 2| =
ET = A 0.084| 26,300 2,209
ET R4t A 0.209| 26,300 5,496 |1BIA R
Z Dt = 1.00 2,003| FIEEDN%

9,708




B 38
FEAISUTIME RifEE 75 5
VAR iE
i 33424 M
_ _ BT ALY
% F fm fE AR BAEKE | HE M| %] & 2
FEISUS & 1.00 3,600 3,600
BT A 0.90| 26,300 23,670
Z D = 1.00 6,154| 57 E D%
B 33,424
B
e E RifEE 76 5
— =z
£ 1,00 H
_ B 1x%ny
#  F fn 1@ RAKTE B =|H M|£ %] & =
BEEX D IEE AR, FES
B IE R i = 1.00 1,000 1,000

1,000




BEtA 8053

B 39
RifE 77 5
VAR iE
i 3000 H
_ _ B 1®uy
% F mn 1@ RAKTiE B =E B fi([£ % & S
BIER D IEH AR, FE5
Bl 5 o7 =® 1.00 3,000 3,000
B 3,000
NEEHZED KA 78 =
— =z
£ 1650  H
_ B inigy
#  F fn 1@ RAKTE BAUM=82 i |£ %| & =
BEXEHFIYETAR ZBm2[  1.00 1,650 1,650[#Z &R

1,650




NERRIHQ

B 40
RifE 79 5
VAR iE
i 4,740
_ Hfy  imidy
% F fh AR BEulfh= 82 @ (£ ZE| & 2
S RISQ FFYiTAR m2 1.00 4,740 4,740 BEER
B 4,740
BEAyal—b RIAE 80 5
— =z
& 485
_ ___ By inisy
#  F oz RAKTE BAUM=H i |£ %] #& =
BEHEAYDa—REER m2 1.00 485 485

485




FREREE

oo

E 41
RifEE 81 5
VAR iE
3000 H
_ _ Hfy 1EETSY
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
SR &R 1.00 3,000 3,000
B 3,000
BEERBAKE B R RifEE 82 =
— =z
£ 430 A
_ ___ By inisy
F R fn 1@ RAKTE BAUM=H i |£ %] #& =
BEERBHKE SR m2 1.00 430 430|FFEELE

430




BRER /K B M 55 AR K

=] 42
RifE 83 5
VAR iE
i 1,300 H
_ _EfE imfmy
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
BEEEBAKEME S5 ER = m2 1.00 1,300 1,300[ TEE L
B 1,300
BEERERERE ARl 84 =
— =z
£ 3900 M
_ ___ B inisy
F R fn 1@ RAKTE BAUM=H i |£ %] #& =
BEERERERE m2 1.00 3,900 3900|FFEELE

3,900




NEE—I T HRE

B
RifE 85 =
VAR iE
i 732 M
_ _ B 1m®y
% F fm fE AR BEulfh= 82 @ (£ ZE| &
BEKT A 0.02] 30500 610[ TERL
ZDih = 1.00 122
B 732
NEZ -V T B Z RifEE 86 =
— iz
& 370 M
_ _ B im®zy
F R fn 1@ RAKTE BAUM=H i |£ %] #& =
R LANE10mm X 5
=YL THEZ =10mm m 1.00 370 30|FEEL

370




LA ZERKD

B 44
RifE 87 5
VAR iE
i 5370
— _ _ By im2ly
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
LAV EIERAK X-2 L% CEBEA) m2 1.00 5,370 530|FEE L
B 5,370
LAV EEHKD RifEE 88 =
— =z
£ 5180 H
_ BAT 1m23Yy
#  F fn 1@ RAKTE BAUM=H i |£ %] #& =
LAV EERK X-2T 3k (ST EERA) m2 1.00 5,180 5180|FEE.E

5,180




BRER A7k B H

B 45
RifE 89 5
VAR iE
% 1,750 M
— _ _ BT im2Zly
% F mn 1@ AR BAK=EE M |£ % 2
BRER Pk B m2 1.00[ 1,750 1,750 & /INE
5 1,750
RBAK#MET RIAE 90 5
— =z
i 10000
— _ B im2sy
#  F oz RAKTE Bilf=s B i (£ %8| @ =
{RBAK#1HET m2 1.00] 10,000 10,000| E#1/NE

10,000




Bk EREAME - BRE

=] 46
RifEE 91 5
VAR iE
i 4360 H
_ B Im®zy
% F mn 1@ AR BEulfh= 82 @ (£ ZE| & 2
RSB AL - FEE m 100 4360 4,360| EH/INE
5 4,360
BRI R E MBS RifEE 92 =
— =z
& 690 M
_ _ BT im®zy
F R fn 1@ RAKTE BAUM=H i |£ %] #& =
BRI R E MBS m 1.00 690 690| E#M/NE

690




BRER /K B T th AL 32

B 47
RAf 8 =
— iz
g 2930 M
- __ _ BT im2Zly
E i ik ~t ik BN E B M & % =
RUI—HEAVMEILZILSB
BER 5 7K B T HhALIE RREMZ m2 2,930 2,930 EH/ME
g 2,930
MK ERTD RifizE 94 §
— A E &
£ 12550
— N B im2sy
=R 7 T AR BEMAE|E M [F | & £
S-F2(FISERF) m2 1.00] 12,550 12,550 E#/NE

12,550




FERMKEETQ

B 48
RifE 95 5
— iR
% 15000 M
— _ _ By im2ly
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2

S-F2(sr FERA)

m2 1.00] 15,000 15,000/ E#/NE

5 15,000
hAREYERE RifEE 96 =
— =z
£ 5570 M
_ BT 1m3y)
#  F oz RAKTE BAUM=H i |£ %] #& =
mREWERE UAL-44A m 1.00 5,570 5,570

5,670




BEERFL U

=] 49
RifE 97 5
VAR iE
i 20,900
_ EfE @RS
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
BIERRL s BT 1.00] 20,900 20,900\ E#/NE
B 20,900
RIERAFLUERE ARl 98 =
— =z
£ 39,100
- BA 1EFHSY
F R fn 1@ RAKTE BAUM=H i |£ %] #& =
BEARLUERE #BE® $100 RFL—F—# | HFF|  1.00] 39,100 39,100

39,100




BEtAE iy

=] 50
n RifE 99 5
VAR iE
i 38000
_ _ Hfy 1KY
% F fm fE AR BEulfh= 82 @ (£ ZE| & 2
7K B a5 SR S A #4 = 1.00] 10,000 10,000
InkKEY 18m =® 1.00] 18,000 18,000
KLy AT 2.00 5,000 10,000
B 38,000
B 5 KimsE 100 5
— =z
£ 250,000
_ B 1=y
#  F oz RAKTE BAUM=H i |£ %] #& =
Bk EHESS SR E R EHM = 1.00] 150,000 150,000
IHEEY 18m = 1.00| 50,000 50,000
KLy [E03il 2.00| 25000 50,000

250,000




B 51
HEsn. A AR)EDIVRE KRIAE 101 5
- - -
VAR iE
i 458000 M
_ i _HE 1%y
% WMo & fE AR HBAEK=EE M |£ % 2 =
J—1)JGT-2460AWX—
ihimR AF-ABYEIVED = 1.00] 290,000]  290,000|T-1BLAIZE &Ll E
REEIE =® 1.00] 168,000/ 168,000
B 458,000
EFRSERE KRimsE 102 =
L -
— Rz
£ 394,000 F
— - By 18y
b Wo- W B RAKTE BAUM=H i |£ %| & =
B E150mm. ST =ZV-904KQE9
LTRSS E H600 X W900 X D650A] = 1.00] 185,000 185,000\ [R5 @M E
REEIE = 1.00] 209,000 209,000

a 394,000




. B 5
AHRaroOEE K@mE 103 5

— iR
i 140,000 F
_ i ] _ Hify 1&4y
% WMo & fE AR BAK=EE M |£ % & 2
R N o F4RS3TM5H2RABW
ARavo TN AtEI0. AREH: 19 = 1.00] 90,000 90,000/ R @MU L
REEIE =® 1.00] 50,000 50,000
B 140,000
B
e E RiME 104 5
L -
— =z
£ 58,000 F
_ . — - B 1zty
b W o- W RAKTE BAUM=H i |£ %] #& =
t8ime SF-ASYEIVED = 1.00/ 10,000 10,000
=Nrisc e & 2.00] 20,000 40,000
HRanA = 1.00 8,000 8,000

a 58,000




B 53
Bl 5 KR{AEE 105 5
- - -
VAR iE
i 375,000 F
_ i _ BT 1Rmy
% F mn 1@ AR BB EE M £ % & S
ihime AF-ABYEIVED = 1.00] 130,000 130,000
=Npib: SN = 2.00 75000[ 150,000
ARavno = 1.00] 95,000 95,000
B 375,000
ERTIEARENRE RifE 106 5
L -
— =z
£ 54,000 F
_ i By 1&54y
PR R mn e Rk~ E HEBE | B @& % =
R E LED. BB = 1.00] 15,000 15,000
BT =R 1.00| 39,000 39,000

54,000




B 54
SHATERBAZR B EE RIEE 107 5
- - -
VAR iE
i 256,439
_ i i _ Hify 1&4y
% WMo & fE AR B E| B (i &F & S
Y T Fvz=wos

SMTEREAZRE 14T/, LED. B &, PR = 1.00] 168,800 168,800 §<YG2524KILEQ F—Lt
BT YL A 0.55| 26,300 14,465
BT R4t A 1.84] 26,300 48,392
MAE = 1.00| 168,800 8,440
ZDih = 1.00] 62,857 16,342

B 256,439
e E RimsE 108 =

L -
— =z
£ 22200
_ i — - B 1xyy
b W o- W B RAKTE Hu=E | H @ 2|

ERTIEARE & 2.00 600 1,200
SMTEREAZRE = 3.00 7,000 21,000

22,200




B 55
Bl 5 RIEE 109 5
— iR
i 180,000 H
_ i _HE 1wy
% F fm fE AR BAKE B M| £ % & 2
B THRARE = 2.00] 15,000 30,000
SMTEREAZRE = 3.00] 50,000 150,000

180,000
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